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1.

(b)

θ1(t) = α1 + (1− 2β1 − 3β2)t,

I1(t) = β1

, θ2(t) = α2 + (1− 3β1 + 2β2)t,

I2(t) = β2.

2.

(a)

I1 = F1 −
αmF1F2

mω1 − nω2
cos(mϕ1 − nϕ2) +O(α2),

θ1 = ϕ1 +
αF2

mω1 − nω2
sin(mϕ1 − nϕ2) +O(α2),

I2 = F2 +
αnF1F2

mω1 − nω2
cos(mϕ1 − nϕ2) +O(α2),

θ2 = ϕ2 +
αF1

mω1 − nω2
sin(mϕ1 − nϕ2) +O(α2).

(b)

h0(F1, F2) = F1 + F2 − F 2
1 + F 2

2 − 3F1F2

(d)

ν1 = 1− 2F1 − 3F2, ν2 = 1 + 2F2 − 3F1

(e) Correção:

ω̄i =
1

τ

∫ τ

0

∂H

∂Ii
dt

ω̄1 = ω1, ω̄2 = ω2.

(f)

F1(t) = F1(t = 0), ϕ1(t) = ϕ1(0) + ν1t,

F2(t) = F2(t = 0), ϕ2(t) = ϕ2(0) + ν2t.

(g)

I1 = F1(0) +
αmF1(0)F2(0)

mω1 − nω2
cos[ϕ0 − (nν2 −mν1)],

θ1 = ϕ1(0) +
αF2(0)

mω1 − nω2
sin[ϕ0 − (nν2 −mν1)],

I2 = F2(0)−
αnF1(0)F2(0)

mω1 − nω2
cos[ϕ0 − (nν2 −mν1)],

θ2 = ϕ2(0) +
αF1(0)

mω1 − nω2
sin[ϕ0 − (nν2 −mν1)].

ϕ0 = mϕ1(0)− nϕ2(0)
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4.
(a) ω = I

(c) I = 1/2

(d) ∆a = 2
√
a

(e) ∆b = 2
√
b

(g) 4
√
a+ 4

√
b ≳ 1

5.

(a) J(t) = β, ϕ(t) = α+
3β2

8
t.

(b) ω0 =
3β2

8
.

(c) βr ≈ 2.

6.

(d) I = ±
√

2ϵβr

3
(1− cos θ)

(e) δ =

√
ϵβr

3

7.
(a)

θ = 2ϕ− 3t, J = 2I.

(b)

I(t) =
β

2
, θ(t) = 2α+ 3

(
β2

4
− 1

)
t

(c)

ν =
3β2

4
− 3.

(d)

J = I0 −
4ϵI20 cos(θ0 + 3(I20 − 1)t)

3I20 − 3
,

I0 = J (0) = β.

(e) I∗ = 1.

(f) β ̸= 1.

8.
(c) 3 graus de liberdade.

(d) py e pz são constantes do movimento enquanto H não é constante do movimento.
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10.

(a) 2 graus de liberdade.
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